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Q1 22 g% 2021 = IcC T 2R I e a3t fqae e = 34 fagz Are

Ans 1 2
X2 4
X3 3
X4 5

Question ID : 63068042182
Status : Answered
Chosen Option: 1

Q2 e soR TAfeTerSss S Egw= 3 HtS B vz S g

e X1 orgg-gseSt
X 2 WITH3-WaZsd

X 5. wim-gret

v 4 gSTE-A3Eg

Question ID : 63068043147
Status : Answered
Chosen Option: 4




3R O3 AT SE HREE ‘Feifei’ (‘SE1REY) Tt Sta famre
Ans X 1. IH=S) TBEQ?
X2 FIFA feRE JY

¢ 3. EFws Ugr e

X4 mHg EEfuan

Question ID : 63068042278
Status : Answered
Chosen Option: 3

Q.4 yTe-ET 5 S AES ShHESE 9 IS8T II@E (The Rock Shelters of Bhimbetka)' & J&' fefanr &5 fam
7% fix fene fearg Aars = U diar famre

Ans 1. 2001
+ 2 2003
<3.1999
X4 200L

Question ID : 63068020606
Status : Answered
Chosen Option: 1

Y vtz 53 faost fig & ITUES gar S gAA 7
Ans X1 TIES

X2 fig

X3 fasnEre

4 WFIg

Question ID : 63068039789
Status : Answered
Chosen Option : 1




W Iz fehmi 55 faoer f2099 wr 39 2 a9 g Hatowr A 97
I €5
I stg

e X fag=
72 fAgg |

X3 w2 2%
Ko I iwaasati

Question ID : 63068042103
Status : Answered
Chosen Option : 3

Y fieT ot § GRS 2 iy gt I & 3 52 W
Ans

X1 1 &=9g 1985
v 2 31 WIZHT 1984

X3 31 WeIgEd 1985

X4 1 &=Hg 1984

Question ID : 63068043011
Status : Answered
Chosen Option : 2

Q8 fgm 3733t faaes & WIWZ 2020 RT wizgTHe fape 3 Hiown &= = viors 3T A
MK v fret

v 2 AIA 35T

X3 wra 3z

X4 gEIH AW

Question ID : 63068042157
Status : Answered
Chosen Option: 4




9 1967 T fitg w Aigwzr 2 urds Fars & o faAs it

A X wrg WA, faRE
X2 St o T%
X3 gt F " ug
v 4 At AR

Question ID : 63068021160
Status : Answered
Chosen Option: 1

Q.10 The theory that states that speed of a fluid increases with a decrease in static pressure
upon it or with the decrease in the fluid's potential energy is known as:

Ans & 1. Bernoulli's Principle
25 2. Euler equation
#< 3. Reynold's transport Theorem

#5 4. Navier-Stokes equation

Question ID : 63068043428
Status : Answered
Chosen Option : 4

Q1 53 32 fmmu 58, 7 €35 w2

93 & 73 3 <3t o ordl fieel afos I& efow RS o e w3 gg gl 9 7
i v g gaH

X2 ZVBEIF HIH

X3 ger I
X4 o I
Question ID : 63068039120
Status : Answered
Chosen Option: 3
.12 " e Lo ot
2 1901 G w2 wiafm St T = iy fiE il

Ans X f55 953 STEE (private public partnership)
X 2 TSET TSI YF'HI (exchange rate system)
X 3. FEGTI=E (neoliberalism)
« 4 feAags (Privatisation)

Question ID : 63068039283
Status : Answered
Chosen Option: 1




OB ooz S gEest fonrfeg fsgast Wil = uSs Swais s g 9t
A X1 AU g T AEE AR

x> ded ahs w3 fnr viadh

X 3. FTHSIUS

v 4 gig FAfeR

Question ID : 63068043531
Status : Answered
Chosen Option: 4

Q.14

1951 = ufg®r A wae fan waret 3fgz OF &t fomr A2
Ane v al gé!'“@ﬂé-}-
x 2. Eﬁh@ﬁﬁf
X 3. 53"}“65@

& 4. ?é}@é\'

Question ID : 63068044082
Status : Answered
Chosen Option : 2

O R faret 33 feardt 3
Ans XT _q_HE_

X2 Zgg
v grfasnfea ferafast
X4 AISA TS

Question ID : 63068043439
Status : Answered
Chosen Option : 2




V¢ dsie-Hedts feadns fang HE sE = a3
A X1 ogst v dudt 9

x 2 fas wieass

v 3 AFTe3 TRY-83FsTS

x 4 JFEE @3

Question ID : 63068043450
Status : Answered
Chosen Option: 3

7 feme Jn A 39 FoTE 2021 @ =99 WS faoT 2 RS J g 37
K0 Smvrga

x 2 gﬁT

X3 SEAMNH

4 I

Question ID : 63068042285
Status : Answered
Chosen Option: 1

Q.18 337 55 fawrg, 3% §9 w5 fanrg yfzsinz viae 2006 B T 3= 2 ufgst = s e Afewr 32

X o fawrg fssifie Wi 2006 wiits 20 S

2.
foagrgsh =& fig, 7 fonwg @ AR fog g A, o feasy 2 I 995 Bar s
X3 gy o fegsy 92 995 Uar 3

x 4. =% feonwrg yfssiaz nlae 2006 wilts 32 3

Question ID : 63068043290
Status : Answered
Chosen Option: 4




Q.19

ye 3 wRIlE T 8 UloB 931 YO H3St © & H =4
XAt HEzIFEHT ITE

X2 Fad iy

X 3. was fgardt Eauet

¢ 4 Hgrg+t SATE

Ans

Question ID : 63068044108
Status : Answered
Chosen Option: 4

Q20 yfewsewT T fEF AW SN aE sos o R WA AE TS aw sl oo ae 37
Ans oy El?ﬂﬁ'

v 2 foast

X3 At

X 4. E“ﬁ

Question ID : 63068043102
Status : Answered
Chosen Option : 2

Q21 y3g fimr 3 vigst =t Shmm viae 2005 2 M3 uiseie fist 9 faas w3 9 =<t 37
Ans X 1.

73 fonwast 25t Raiad AR, Hiddg w3 S=a3Hd HAE 3 Wiafad ARE & 996 9557
X2

73 fenast < frgs. 99 89 WafHa J9= & ASi9a, § saHs ugoge
« 3. 33 fawast o fawrar gaa

X 4.
fifaz fonast 2 fros. goftmr, Hies w3 wier § g s ugege 7 deF a9% = ¥33 R ue

Question ID : 63068043272
Status : Answered
Chosen Option : 3




Q.22 39z 2 Aftos weHe. 9% fofaw 53 faoe Uofisr 2 Aen e mat 37

1.1 A = g, fis 2 Uog €3 dofest vee i wvs ot fils s Aeifts O A/ feeersst met fie

T fanvEg & fig A 3
I1. Yorfez 939 = wow 3 fiz Uorfes = yone 8=
s X FEm i
X2 JI
i3S
X4 F=E
Question ID : 63068043547
Status : Answered
Chosen Option : 1
Q.23

o 2 52 Afaz it Heg udam. farg msfuz I7
A v geers e
X2 SIS TH

X3 o BIEAT
X 4 SIS FIH

Question ID : 63068039218
Status : Answered
Chosen Option : 4

Y I e B fome Rt S w7
e X famr ufare

X2 ofgd AIdT
¢ 3 9 AIdS

X 4. H AT S A

Question ID : 63068044170
Status : Answered
Chosen Option: 1




02 grgz & Afeos WeRT, WaEe-Rues T g 5T At 51 97
. 236 — WSS AT BE! fagr A 2 fegrer I9 favade & g9t
II. 226 — FF HiHEW § 9 wes3 K9 37

e X m It EE
X2 FEH
X3 =B |
Ve FE W

Question ID : 63068043536
Status : Not Answered
Chosen Option : --

Q.26 It ffanit f&9 fam 9= § 323t Afers & 2t wzgs! fie 7 &t &t famr 37
Ans 21, HET

X2 fimeSH

X3 T

x4 faugr

o, =

Question ID : 63068044130
Status : Answered
Chosen Option : 4

Q.27 3z fmd &5 fradont st & & (NASA) Enrer Seon 2 Uits AEES Sooae S=0E B8 giewr fame
I?

Ans @ 1.
xz.gerg’-]-
X3 whym
X4

Question ID : 63068042333
Status : Answered
Chosen Option : 2




Q28 gt Afeors 2 fom FRgs &% 993 9 3¢ s 9t fs@aan @1e 21 78 3 18 A a9
Ans x 1. ?5%

X2 ?2%
X3 o=

o 4 61%

Question ID : 63068026528
Status : Answered
Chosen Option : 4

Q29 forat fefamiding 53 famg Sove 2 Sonaens © Tgs o iF ¥ fige S 7w 37
e K Ioge s

X2 yfeas @98

X 3 TI&T JASHIH!

v 4 S mEEME

Question ID : 63068043436
Status : Answered
Chosen Option: 3

Q.30 I fifowt &S g9t Rifewrs &t faadt oar wers IHegus i favat & f5Gars aer 3 9793 @ weraat
T59% TTs B9 guUSiH a9 O 5 fegeg 9T @ war 927

Ans 1. OrgT- 75(L)
X2 Oar -80(2)
X3 g 73(1)

v 4 Ogr-76(1)

Question ID : 63068020658
Status : Answered
Chosen Option: 3




Q.31 39z 2 Afeors waArg, JaF féfaw 5 faasr Az o feos vVes - iwefr e Sz e 2 ddu i
baoido iy

| eos Ae - Ao As T T &1

1. feors ufgee - U=t A 3 vie =t
e X1 =B

2 FITIE

X3 =T\ I

XKa w3

Question ID : 63068043525
Status : Answered
Chosen Option : 3

Q32 fggrg o fefzoma RIS AR, I fofonr iS5 oo 7RT @ Hass =5t Afenr wer 37
e X1 moieis

X2 SEg

X 3. SIES B |

v 4 BRI 7I gt

Question ID : 63068039109
Status : Answered
Chosen Option : 4

Q33 |car-Fes 122 forgw Ao (F==t wig B aw9) I ffow &S fom Afos Ko Afiz 37
e xK

2. faHmr
X 3. Wi

X4 g

Question ID : 63068021133
Status : Answered
Chosen Option : 2




Q34 gt gz fim foaras & wersz It wea fom arge e fait mive ydu & de-
Hgedt 58 & g w2 g wilts WE'sST @ wuHs ASfuzg HHS feg wiegat

St ouer 91 f'g g Hifawr famr 7

A o

" ¥ In Re: fe& S=9r fHRIT AIR 1995 SC 2348
x 2.
C FE=Is WTed S&™H THASH AM Bhattacharjee 1995 SCC (5) 457
x 3.
FUSTH J9¢ I'9 WRATSHS 9&™H 393 AW AIR 1998 SC 1895
x4

7 it 58 mreT W2 99 S5 Contemners 2001 CriLJ 639

Question ID : 63068043259

Status : Answered

Chosen Option : 3

Q.35 gmest 07 333 fiEs (NRLW) 2 f6ATSS Waaears fAos a1 6 & i 33 fifanr &5 frmer 37

Ans o 1.
TS 3T AHEg AHSEE Jemi I w3 ISt S 999 wigE & Hegs e 9=t 3

X2 dgussewis T asad 05 3

X 3.

Uz 839" @ e 8 § I 8 &t Fofes a=at el 9
X 4.

HISt 939 @ wifls 3 99 3 & AIfesT a9at goiet 9

Question ID : 63068039435

Status : Answered

Chosen Option : 2

Q.36 faBs fagr, 3 fa s 9 fim "war M, § 95 K2 o Am o 8 @ gu T gere Serfonr fame e
A1 ygrgrr gEAtE TRy

X2 ygg ¥3a fRw

X3 wigame

X4 AT AT

Question ID : 63068043068

Status : Answered

Chosen Option : 2




Q37 59 = i & I Efaw S faa2 sea w8t Frigs waret uarers fifar?
X AR as

¢ 2 g913 fiw AIte . e fEa3t

X3 uygmE B

X4 fopg 98 SHH = 99 St

Question ID : 63068043020
Status : Answered
Chosen Option : 1

Q38 == 2020 B, yors HIS IS SfEwrE Imarg witws _____ ®E Fg o famr A
s o YA ST

X 2. AT IgHTTSMT

X5 fmre

X4 gt femdge

Question ID : 63068042231
Status : Answered
Chosen Option : 4

Q.39 g3 Irw wz i 2 fsmi warrs, I3 fBfimi &3 fooer aroa Y=t isdde 2 dn = fdm &<t 37

Ans X 1.
f&a 79 voge o996 3 IwE. et faf a9 2 JE & We3de WK 39 3 T9asns 3 fifg adf g
x 2
o9 font izsde @ oov S=w 3 3 69 fos99 &% wuE yRas 2 (7 § A fogud W AoHsrad 97 &5
T
« 3.
WI2AE WUE HEaB BE WIS SRS YUI T9&" Halal SEredT]
x4

fam wia=ae § fia A Adtarg &4t a9 odter F fai HHS 5 01 &t 9
g, A< GR o fig as o ags 92 fa §9 fia areag I&am

Question ID : 63068043250
Status : Answered
Chosen Option : 4




Q40 =rdgT yeHew (Jars W IHien) Wae, 2019 i vers & Z wrfamr fider I
Ans X1 IR OIS

X2 fizst ogs
v Ae-TSE
X 4 FHEE O9&T

Question ID : 63068043390
Status : Answered
Chosen Option: 4

W oy & mieT 3% I iAZs SO BeET 3

Ane X1 hoo ies
v 2 300 Heg
X3 200 Hes
<4100 Heg

Question ID : 63068043148
Status : Answered
Chosen Option : 2

V2 gt o faodt IaEar oA ofowrs o A ST 9t /2
Ans XT 'FF['ET
X 2w

X3 TTEY
v+ BIg AT

Question ID : 63068042995
Status : Answered
Chosen Option: 3

Q.43 2=, 59 ToHa WS AXTfaa Bos T, Ues fife aofes vadiasst anrer CCk:CEREE]
AEfUz ST famr A

Ans  X'1. 1863
X2 1892
+ 3. 1887
X4 1871

Question ID : 63068043015
Status : Answered
Chosen Option : 2




Y Ist ffaw &S fame vige ise T=a 7

A v mfe ugds
X 2. WG FHITHSWH
X3 TS WE o
X 4. Fr. fgEs
Question ID : 63068020528
Status : Answered
Chosen Option : 3
Q.45 gz = feam Aere Feh (1CDS) Fa & §+a & sfowt § FaresT W Aee yEs a9t a7
s @16 WS -6 FE
X2 6 HIIS -9 A
X3 IS -3 7S
X4 3 HItS-9 S
Question ID : 63068043109
Status : Answered
Chosen Option : 2
Q.46 o= Mzt sidTs #Y & yms HESt A afewE vis teer 2 fores = viws st 3 fim tee @ Hein e

Iz fafm f55 faasr foows mt 37
|. fo fi= 37 Foftmr s=vet maid 31

. fem & 31 == 2021 59 = &7 famr 3

Ans :
Xlsg w3 Edl
v 2 frgg |
X3 w3 =F
X4 fRI=
Question ID : 63068042238
Status : Answered
Chosen Option : 3
Q.47 Iz fefaw 5 st (Fm) Wiae 2oz0 &t faut ooy du9 Foas § AR 3 B as fawe a9 =t de-

Ans

FES S @ Wit e e < e e w it Rl 92
X 1. Ogr 88

X2 Ogr 147

X3 Ogr 117

o 4 T 129A

Question ID : 63068043368
Status : Not Answered
Chosen Option : --




Q.48 3z fifow 53 fars Fuat, A3S3 &9 w2 o 30 v =3t fefsorma gHss oe=s ey
Ans 1. é’]‘u’ﬁw

X2 Fes Ry

X 3. WiH3T YI3H

X4 mraa A

Question ID : 63068043033
Status : Answered
Chosen Option: 1

W ogae Hats T s Feiza A IR I

Ans &1 7
X2 8
X3 6
X4 5

Question ID : 63068039014
Status : Answered
Chosen Option : 3

¥ Is fefawt i IFCL T At T 5 g2

Ans o 1.
S fesggRedaaa SEa™H JUdT (India Infrastructure Finance Company Ltd)

x 2
B fesegresaog 2595 JUat 5. (India Infrastructure Federal Company Ltd)

X 3.
e fEsHdE TEt&HEE T9USHS 5. (Indian Industrial Financial Corporation Ltd)

5 4.
felge foseaRedas SEIsAME Suat 3. (Import Infrastructure Financial Company Ltd)

Question ID : 63068021180
Status : Answered
Chosen Option : 2

Q.51 fiz Iu<idt 1 wer 20 fie T i forfos gt 3w o=t 3. 799 GRS ©7% 60 km/h 31 83151 &t o fH8t 92
Tt 3. A= fef 2ot § so et e yor ase 997

Ans X1 90 m/sec
X2 90 km/h
+ 3 96 km/h
X4 96 m/sec

Question ID : 63068031299
Status : Answered
Chosen Option : 3




Q.52
-8 3

= x (2-2+ %) fromags IFG R YUz Jor I

Ans 21

‘I. —
X 16

16
W2
21

o3 —

P

Question ID : 63068041315
Status : Answered
Chosen Option : 3

% Izt it miteTs T 2 T B U ES)

2558?"{%) + 1350 42% = (?P — 7605

Ans  X1.105
X2 9L
3 95
X4 96

Question ID : 63068040369
Status : Answered
Chosen Option : 4

Q.54 287.0134 x0.0491%1.902 v
o HE Ch:caefor o
41.004%99.89

Ans X 1. 0.7
X2 0.07
X 3. 0.0007
+ 4 0.007

Question ID : 63068026942
Status : Answered
Chosen Option : 4




Q.55 42 cm fowrm T3 g ¥R B § < S99 g T g fomr 31 yruz 38 wom 313 T A 93ees v ad
(w=3n=2)
Ans 1 4158 cm?
X2 4100 cm?
X 3. 4058 cm?
X 4. 4258 cm?

Question ID : 63068026902
Status : Answered
Chosen Option : 1

Q56 AwFpRsfosRofladiéasmR T ewIc B IgAIH S 12 fos RS a9 FaR T8l A. B3 C
& G aH § 6 for foo o= 7o w1 B €% a1 § fogw &% fos R aw Faer 37

e Xz fes
- =
X3 g fas
XA fes

Question ID : 63068026806
Status : Answered
Chosen Option : 2

057 iR misss I

[10 + 8 — 2 x (2 + 78) — 45+9 + (369 + 5x3 — 209)] x (=3/2)
s 1222

X2 152

X3 228
x4 202

Question ID : 63068040222
Status : Answered
Chosen Option: 3

Q.58 fiz Img = waTfEwE W2 BSTEN gHET 21 cm W 140 cm I51 TR IS8T ¥ 1848 m’” d3Sew TS BT 2 AT
& FHIE a9e 3| 7Y 97 2 WS § fie =9 3w ous wE 959 § 5t = fage wdar

Ans X1. 500
#2100
X 3. 10000
+ 4 1000

Question ID : 63068031467
Status : Answered
Chosen Option: 4




Q59 aAswcfadMigraiz s oo mrR T v ificfEsdiaR e gadl
&3 fd=r 31 B w3 ¢ 3 a9% Ao T2 Iwl X 55 fow g yor 3 wEare

Ans o1, fam
X2 2fes
X3 3fes
v 4 5 fas

Question ID : 63068026808
Status : Answered
Chosen Option : 4

T miETE x4 2x-6:0 T HE UT 3|
AN o1 T2 —JT—1

V2 T—1,—7-1

K3 \T—1,—7-2

Ko T-2,—7-2

Question ID : 63068042495
Status : Answered
Chosen Option : 2

Q61 ; g5x7.85-2.15%2.15 (2.3)%-0.027

- 2 9953 I
7.85-2.15 (2.3 )%240.69+0.09

LUCHES S
X2 10
X3 11
4 12

Question ID : 63068026862
Status : Answered
Chosen Option: 3

Q.62 6265904320 T 9 WS 5 O &5 TEINT 3, IF Jo ffowr 59 fagT ab = AT I S5 HoEE HB 97
Ans 1. 5

X20
¥ 3 35
Xa7

Question ID : 63068031452
Status : Answered
Chosen Option : 3




Q.63 7w i 7% BE 56000 T 520 g9er I W 4 HIlS S™E $2000 &% I99e OF &% g As & mHugt
‘T, @95 T E 52600 I IuIe T ¥E o e T 32

Ans 1. $650
X 2. $800
X 3. $750
X 4. %900

Question ID : 63068042580
Status : Answered
Chosen Option : 3

Q.64 Zmraw mEgsgA T I feRT U ee mI I R T T frsez e m A Wws7s P m S =T €3
TS § U9 w9 =t B9 (Fud 5e) vz as

Ans  X1.12,345
X2 11,890
3. 10,980
X 412,890

Question ID : 63068040898
Status : Not Answered
Chosen Option : --

85 Izt fifonr &S fooT o8s MHo3TsH @ Fe g Fe &4t 37

X1 R gy vt T

X 2. FSHY JF g9=S g2 I8

v 3 A9 3F 90° @ §9TSg 9% I I8!

X 4 AW S ©f B8 AHS g9 Il

Question ID : 63068042663
Status : Answered
Chosen Option : 2
Q.66

31 35y fdar I 7
Ans X 1.185.52
X2 125.33
3 119.35
X4 144.98

Question ID : 63068042546
Status : Answered
Chosen Option : 3




V7 Iat i mitaes €9 (7) & 5 €3 widE T S99 HE o 3&9r?
80% of (280 + V?) = 2LO
Ans X1 25
X2 100
X3 20
« 4 OO

Question ID : 63068042498
Status : Answered
Chosen Option : 3

68 3 g Aftmiet = 1F 1188 31 Aae ufget Ak = 25%, g At 2 35%
T S99 3, FF 35 55 foodt Aftmr 23 32

Ans X1 395
X2 693

« 3. 495
X4 593

Question ID : 63068040994
Status : Answered
Chosen Option : 3

Q.69 z 12500 & & TH '3 5% HFIF fawm F FEE 29 FE fow ST 1 g AR Ty fowra uF a1
Ans 1. ¥ 1080

X2 % 80

X3 T 1000

X4 T 2080

Question ID : 63068042619
Status : Answered
Chosen Option : 1

Q.70 60 km/h T =TT o= B 3% 9, 6F R Y 2L km/h S WIS A= 9 gLt 98 I § 30 Afve Y
g It 3 9T 38 I & HoeE SuE ot 97

Ans  X'1. 200 m
+ 2 300 m
X3 250m
X4 350 m

Question ID : 63068040985
Status : Answered
Chosen Option : 2




Q.71 =g= iz forfos ot 2 E-STR A S S km/h wB T Z & 6 km/h T I8 3 1 8 10 fiiet o 3w e
FET J1 g% ge Uz asl

Ans  X'1. 3 km
+ 2. 6.08 km
X3 5km
X4 7 km

Question ID : 63068040794
Status : Answered
Chosen Option: 3

72 T E Ut Ee

( 55 _ x
1+E = (1+ 2'}']

LUCHE -
X2 3
3 1
X4 -1

Question ID : 63068040936
Status : Answered
Chosen Option: 3

Q73 3 At o 97 85 3 Aefy 98 @ WiET 25 I = A T B & 37
Ans X1 60

X2 L5

« 3. 55

X 4 50

Question ID : 63068040442
Status : Answered
Chosen Option: 1

Q74 2 Ffimr 812673, 3 578 YSs 39 3 IEGET 3. I a T 53N AIfEs HE o 97

Ans 1. 2
X2 3
X3 6
X4 L

Question ID : 63068042540
Status : Answered
Chosen Option : 2




7S I fefawr &3 faast Rftmr 101, 103 W2 105 578 YS9 39 ‘2 Imar 37

Ans X1, 212105
+ 2 1092315
X3 72821
X 4 1040300

Question ID : 63068040934
Status : Answered
Chosen Option : 4

U WG RS T mieEs Yy T s Uz A=

— L 67+ 17252823 L3~y =—7472.78

Ans X 1. F557.20
¥ 2 7567.20
X3 7576.20
X4 7657.20

Question ID : 63068040529
Status : Answered
Chosen Option: 3

Q.77 fisoozsSwmisEs T wgug 10: 12 s g sess o @ vt S imes ss ftAsg =_ o i
feos s Toss e yAwI SoS fimses pieg 1 : 4. 3 : 5w 5.7 wis e 731 A foos fis wesa &
MR L8 993 B ud o 3, 7 48 g9aF ST Su B Us T owWEI S uT 9

Ans 1. 97 : 51

X2 82:33
X3 51:97
X4 33 :82

Question ID : 63068042601
Status : Answered
Chosen Option : 4

Q.78 233w 2 witss 5999 51 79 & HID 2 IW &E wivd 37w with 5 w2 g S we-dee ()
T €9 a9 AeE2 U 3 935 § [9ES 39 59° I G AN § A1 fes UrEEr I AT e IR W eSS
WS S FEATe

Ans 1.7 13

v213:7
X3 20:13
Xa420:7F

Question ID : 63068042608
Status : Answered
Chosen Option: 3




Q.79

Jgg =5 I fakag VP arimuzrade
Ans x 1. ZDG‘JE

X2 5042
« 3. 500
X 4100

Question ID : 63068042524
Status : Answered
Chosen Option : 2

Q80 Jggq >0, wTx2 —17x + q = 0 2 YE YI& W T8, I 'q' 2 foi5 ¥ Yo wia I Fe 757

LU S -
X227
X3 5
4 8

Question ID : 63068040448
Status : Answered
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